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S 3a=6,a=2
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4.

i 6 3
V2=a, V3=bFL Z o, V8+2V2T+ =- =
= V54 V18
o]-gstof et H?
1 1 3 1
@ ga+6b+§ab (@)%a—i-(ib—i-%ab
©) ga+6b+§ab @ 5a+4b+ ab
® §a+4b+§ab

o

i

B

(EA) =2V3+ 63+ — -

E

5
%

3

Vi _ V2

2
=2V2+6V3+ — - —-

= 2 VB 463+ 5 V3B

3 1
= §a+6b+ gab
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D 327 = 18.08
® +0.327 = 0.5718
® /32700 = 180.8

| SZEoA V327 = 1.808 , V32.7 = 5.718 & 1w, T}S = 27

@ 1/0.0327 = 0.01808
@ /3270 = 57.18

1 1
—_ '2 = —_— .2 = .1
‘ @ 4/ 100)(3 7 10 V3.27 = 0.1808




6. (2x+1)?-(x=2? = Bra)(x+b) Lol a+3b ) P& FoHAI

D45 @6 @7  @s ® 9

B 1
(2x+1)2-(x-2)2

=2x+14+x-2)2x+1-x+2)

=(Bx-1)(x+3)

a=-1,b=3

SLa+3b=-14+9=38
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8. xX*=4,y?=90|0 x-y o HAZE M, HEH S molzt T o,
M—-m 9 327

O -10 @ -5 ® 0 @ 5 @10
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FTHE AL T a>0,6>0)

@® -+0.121 = -0.11
1
@ \/E
100
® (-1)? o AFEE -1 ot
@ a> 0o, YD ooy,

a

® A=—(+a)? B= /(-b)2 ©]H, A x B=ab °|t}.

=0.3

B

@D -0.11 = -v0.112 = - 0.0121

® /(-1)2 =1 9] AlF2 £1 o]t
® 2 B= \/(-b)2=b°|E2 AXB=-ab




10.

VIS+3T VI5-2F5 E 454, 2VTH3V2-1 35 22 55 bty
st b—a o gHE F5HA?

@ 4 @ 2 ® 0 @ -2 )

S5 «
@ Vi8+3-(V15-2)= V18 +3- V15+2>0
V1843 > V15 -2
@2Vi-(3V2-1)=2V7-3V2+1= 28— VI8 +1>0
L2V7>3v2-1
na=V18+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=—40°]|t}.




11.

oF bem 91 Y 5
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39

Zol7} s2em 9 T A3 F |2 et g o] Aol 242
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D)
il
4
_(?L
g

® 7em? @ 13cm? @ 25cm?

@ 49cm? @ 91 cm?

B ,

da+4b=52°]B2 g+ b =13

a® + b* = 109

(a+b)?-2ab = a® + b*

109 = 169 — 2ab

..ab =30

(a-b)? = (a+b)? - dab = 169 — 120 = 49
a-b>0,a-b="7

b =(a+b)a-b)=13xT7=91




12. — =N AAGTtHE AT x yl A FS T A &
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T 12W?

@ xy ¢ &2 6 ol

® 20+ 9 AEGL 7o)k,
@)y=3°1% N 2 AA57H B 5 g,
@ x7H WA 2 9] 42 Bak gk

@)y = WA 6 9] Hjgoiof T,

~&B

N= ? I} 2F Az} 7] SJeA ? 7} kA F oo
st

96 = 2° x 3 °|B & xy &= HIEA] 6 (AlF=) o] ofoF gk (D
)

x=12 T, y=6ol® N = vi6 =4 o|ch(@ 4)

y=3 ) x=20E N =8 olth(BL AYshA ort})
xtyEx=2 y=3 0 F23 7S 2ch(@ 49)
x=30]2 y =252 ¢ N2 A7t HAT xy = 69 vl
7} oheh (G 4] g=th)




@s @)15 (3)35 @ 50 @99

S = (V2-1) + (V3-2) + (V- V3) + .. +

(Va+1-+n)=Vn+1-1
On=8¢m,Sn)=3-1=2

Qn=154M,Sn)=4-1=3
@n=349",5n) =6-1=5
@®n=502 o, S(n) = Vsl -1

®n=994 W, S(n)=10-1=9
m2tA O, @, @, ®7F "ot




1 1 1

14. fla)= Va+1+4 va & i SETEIN ][4 o= §

IORNIG) 109)
9
1
@® —5 @ -2 @\/1_0—2

@ V10- V5 ® V10+ V5-2

fla) = Va+1+ +a A

1 1
@ Varitya Vetl-ve

1 1 1
E}E}H,erer---JrW: V6-2+ V6- Vb+--- +

V0 - V9 = V10 -2




15. V143 9 2 atsta, Vb=1.105 4 W, a,b 9] 327

> 0 1 2 3

1.0 | 1.000 | 1.005 1,010 1,015

1.1 ] 1,049 | 1.054 | 1,058 | 1.063

1.2 | 1,095 1,100 1,105 1.109

1.3 | 1.140 1,145 1,149 1,153

1.4 | 1,183 1,187 1,192 1,196

® a=1.000, b=1.13 @ a=1.005 b=1.15
® a=1.049, b =1.42 (@)a =1.196, b =1.22

® a=1.192, b=1.23

oA 1.43 & 2O 1,196 °]E & +1.43 = 1.196 ©|11, A|
29 gro] 1.105¢ AL ZFom 122 o|EHR 1.22 = 1.105
1o}, webA a = 1.196,b = 1.22 0|t}

F
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